	Races shaded in gree	y \$25/race'	dered bette " (or multip	er bets for t bles of this)	the day. No to follow	Dutch Bett	nding bet with ing Strategy		× 18		Biz auras		X
	W/O- Large Det		-	these selec			icebiz use bei			A.	- Nn	NY.	
VEDNESDAY	28th February 2018			TRACK	GOOD	3 / FINE	WEDNESDAY	28th February 2018			TRACK		
RACE MEETING	SELECTIONS HORSE	Assessed Odds	Outlay \$25 per race	PLACE	DIVID- END	RETURN	RACE MEETING	SELECTIONS HORSE	Assessed Odds	Outlay \$25 per race	PLACE	DIVID- END	RETUR
EST BETS	OF THE DAY												
BENDIGO	RACE 7 NO 1.SACRED SAM M/O *	\$3.00	\$8.00	1ST	\$3.30	\$26.40	LAUNCESTON	RACE2 NO 1.IT'S A BATTLE M/O *	\$2.30	\$11.00	1ST	\$2.80	\$30.8
ACE SELE	ECTIONS - TOP OF T	HE LIST I	S CONSI	DERED B	BEST RAT	ED HOR	SE.						
BENDIGO	SELECTIONS	Assessed	Outlay \$25 per	PLACE	DIVID-	RETURN		SELECTIONS	Assessed	Outlay \$25 per	PLACE	DIVID-	RETUR
	HORSE	Odds	race		END			HORSE	Odds	race	. 2.02	END	
RACE.1							RACE.8 ROSEHILL	5.THE GAVEL * 2.MULTITUDE	\$4.50 \$3.50	\$6.00 \$7.00		\$11.00 \$9.20	\$6.00 \$7.00
							SOFT 7	12.MAZAZ	\$6.50	\$4.00	2ND	\$4.50	N/BE
							FINE	10.GO BENNY	\$6.00	\$4.00		\$17.50	\$4.00
CLASS =							CLASS =	7.PERIBSEN	\$7.00	\$4.00	1ST	\$9.80	\$39.2
							POOR						
R1 RESULT		r	1	1	1	r	R8 RESULT	(7,12,14,16) QN \$14.90	r	r	1	1	1
RACE.2							RACE.						
CLASS =							CLASS =						
R2 RESULT			l	l	I	L	R8 RESULT			I	l	l	
RACE.3							RACE.8	7.LIPSYNC *	\$4.00	\$6.00	4TH		\$6.00
							IPSWICH	12.HIDDEN BUDGET	\$3.50	\$7.00			\$7.00
							OCAST	4.PATRONIZING	\$9.00	\$3.00		\$9.00	N/BE
CLASS =							HEAVY 8 CLASS =	8.READY FOR DANGER 11.OLD HABITS	\$4.00 \$6.50	\$6.00 \$4.00			\$6.00 \$4.00
02.00							POOR	11.010 1140113	ţ0.50	<i>•</i>			
R3 RESULT							R8 RESULT	(9,16,6,7)					
RACE.4							RACE.9	7.BENICO'S PRINCE	\$5.00	\$5.00	1ST	\$11.10	\$55.5
							IPSWICH	8.REAL MYSTIQUE	\$3.70	\$7.00	4711	63.00	\$7.00
							OCAST HEAVY 8	12.FUTURE EVENT 15.MR ATTITUDE	\$3.00	\$8.00 \$5.00	4TH 3RD	\$2.80	N/BE
CLASS =							CLASS =	15.MR ATTITUDE 10.BOBBY GOOD	\$5.50 \$12.00	\$5.00 \$2.00	SKD		\$5.00 \$2.00
02.00							POOR	10.00001 0000	\$12.00	÷2.00			<i>v</i>
R4 RESULT				•	•		R9 RESULT	(7,9,15,12)		•			
RACE.5	11.MR COOLEY *	\$2.50	\$10.00			\$10.00	RACE.						
	4.NONE BETTER *	\$5.00	\$5.00	4TH		\$5.00							
	6.TROJAN STORM	\$4.00	\$6.00		\$3.20	N/BET							
CLASS =	7.SMASH THE GONG	\$5.50	\$5.00			\$5.00	CLASS =						
POOR							CLASS -						
	(3,9,5,4)						R RESULT						I
RACE.6	1.GO DOWN *	\$5.00	\$5.00	1ST	\$6.00	\$30.00	RACE.4	1.SANDISON *	\$3.00	\$8.00	1ST	\$1.80	N/BE
	6.MISS ADEQUATE M/O *	\$3.70	\$7.00	2ND	\$3.50	N/BET	GAWLER	5.JOHN'S LAST SONG	\$4.00	\$6.00			\$6.00
	9.OUR CHIQUILLA M/O *	\$4.20	\$6.00			\$6.00	GOOD 4	11.BURST OF FAITH	\$4.50	\$6.00	4TH		\$6.00
CLASS	7.PLENTY TO LIKE	\$6.50	\$4.00			\$4.00	CLASS	2.TICKET TO TEXAS	\$9.00	\$3.00	2ND		\$3.00
CLASS = AVERAGE	5.MACATTACK	\$6.00	\$4.00			\$4.00	CLASS = POOR	8.RESISTA	\$7.50	\$4.00			\$4.00
	(1,6,4,3) QN \$7.40						R4 RESULT	(1,2,7,11) QN \$7.00					
	4.VALLIANO *	\$4.50	\$6.00			\$6.00	RACE.8	3.ANTIPAS	\$3.50	\$7.00	2ND		\$7.00
	8.ROCKETS RED GLARE *	\$5.00	\$5.00			\$5.00	GAWLER	1.GRUMPY GURU	\$6.00	\$4.00		\$6.00	N/BE
	1.SACRED SHAM M/O *	\$3.00	\$8.00	1ST	\$3.30	\$26.40	GOOD 4	9.JOCKS GLEN	\$7.00	\$4.00	3RD		\$4.00
	5.I'M TOO HOT 11.SHADOW FIGTHER	\$7.00 \$6.00	\$4.00 \$4.00	2ND		\$4.00 \$4.00	CLASS =	2.CASIRAGHI 6.BARSHONTI	\$4.50 \$6.00	\$6.00 \$4.00			\$6.00 \$4.00
POOR	11.SHADOW FIGTHER	Ş0.00	34.00			Ş4.00	POOR	6.BAKSHUNTI	Ş0.00	34.00			Ş4.00
R7 RESULT	(1,5,6,8) QN \$9.90		1	1			R8 RESULT	(10,3,9,4)			1	1	
	9.FILBERT WAY	\$3.70	\$7.00			\$9.00	RACE.						
	5.ALL HARD WOOD	\$4.50	\$6.00		\$4.30	N/BET							
	6.BALCAZAR	\$6.00	\$4.00 \$4.00	1ST 2ND	\$4.80 \$40.00	N/BET							
CLASS =	2.NOVA JOE 1.HELL ON EARTH	\$6.00 \$8.00	\$4.00 \$3.00	ZND	\$40.00	\$4.00 \$3.00	CLASS =						
POOR													
	(6,2,14,3) QN \$51.30						R RESULT						
RACE.9							RACE.2	1.IT'S A BATTLE M/O *	\$2.30	\$11.00	1ST	\$2.80	\$30.8
							LAUNCSTN	2.KALALO	\$6.00	\$4.00	3110	¢6.00	\$4.00
						1	GOOD 4 FINE	3.MATIANO 10.LOVELY LADY	\$7.00 \$5.00	\$4.00 \$5.00	2ND	\$6.80	N/BE \$5.00
CLASS =							CLASS =	14.MPONENG	\$8.00	\$3.00			\$3.00
/							POOR		, 5.00	+2.00			20.00
10 RESULT	RACE MEETING RETURI						R RESULT	(1,3,5,8) QN \$5.70 RACE MEETING RETURN					

	RaceBi	z: EXOTICS SELECT	IONS]		
BEST BOXED	TRIFECTA OF THE DAY SE					
RACE MEETING	RACE NUMBER	SELE	CTIONS		HORSES	RETURN
BENDIGO	6	1,3,	5,6,7,9	RESULT	1,6,4	LOST
		NO SE	LECTION	RESULT		
BEST FIRST FO	OUR OF THE DAY SELECTI	IONS				
RACE MEETING	RACE NUMBER	SELE	CTIONS		HORSES	RETURN
BENDIGO	6	1,3,	5,6,7,9	RESULT	1,6,4,3	LOST
		NO SE	LECTION	RESULT		
BOXED / BAN	IKER / ROVER TRIFECTA	AND FIRST FOUR'S OF THE DAY				
RACE MEETING	RACE NUMBER	SELECTIONS	BOXED/BANKER/ROVER		HORSES	RETURN
				RESULT		
				RESULT		
				RESULT		
				RESULT		
QUADRELLA	SELECTIONS			1	1	I
RACE MEETING	RACE NUMBER	SELE	CTIONS		HORSES	RETURN
	6 7	NO SEL	ECTIONS	7		
	8 9			RESULT		
	6			-		

For betting strategies and money management plans see articles on the website Call now on 1300 RACEBIZ or 0404 820 907 for advice and punting assistance - the team are here to help.

7 8 9

RaceBiz - your punting partner

RESULT

www.racebiz.net



	RACEBIZ SUPER E		Wednesday 28th February 2018													
RATING	IS BASED ON AGGI	ODDS	HORSE SELECTED IN THIS SECTION HAVE A 5 TO 9 POINT MARGIN TO THE SECOND RATED HORSE IN THE FIELD SELECTED							BETFAIR S/PRICE						
DATE	TRACK	RACE	HORSE NO	HORSE NAME	CLASS/DIS	RATING	OUTLAY TO WIN \$100	RESULT	ODDS	OUTLAY	RETURN	PRO/LOSS				
28-Feb-18	ROSEHILL	6	2	EGYPTIAN RULER	BM75/1500	\$1.90	\$53.00	L/SCR	L/SCR	L/SCR	L/SCR	L/SCR				
28-Feb-18	BUNBURY	4	11	RACY AVA	MDN/1410	\$1.70	\$60.00	2ND	\$3.50	-\$60.00	\$0.00	-\$60.00				
								DAILY	TOTAL	-\$60.00		-\$60.00				
R	RACEBIZ SUPER SUP	ER BETS				We	ednesday 28th Febr	uary 201	8							
RAT	TING IS BASED ON AGGRE	os	HORSE SELECTED IN			LO POINT OR MORE MAR THE FIELD SELECTED	GIN TO THE	BETFAIR S/PRICE								
DATE	TRACK	RACE	HORSE NO	HORSE NAME	CLASS/DIS	RATING	OUTLAY TO WIN \$100	RESULT	ODDS	OUTLAY	RETURN	PRO/LOSS				
28-Feb-18	BENDIGO	3	11	CHATEAU GRIFFO	MDN/1000	\$1.30	\$82.00	1ST	\$1.50	-\$82.00	\$123.00	\$41.00				
	•				-	-	•	DAILY	TOTAL	-\$82.00	\$123.00	\$41.00				

DATE	TRACK	RACE	SELECTIONS	HORSES	OUTLAY	RETURN	PRO/LOS

RaceBiz:	QUIC	K PICK	S SELE									
DATE / DAY		Wed	nesday 28	8th Februa	ry 2018	1						
STATE:	MR/MEL	SR/SYD	BR/BRI	AR/ ADE	PR/PER	TR/TAS						
TRACK:	BENDIGO	ROSEHILL	IPSWICH	GAWLER	BUNBURY	LAUNCESTON		PUNTER'S NOTES				
RACE 1	2,8,9	0	3,5,4	1,2,4	8,1,3	2,12,6	3.THE REAL BOSS \$1.90	/ 1.SPYING ON YOU	/ 1.SPYING ON YOU \$5.20 / 8.MAGIC CHARM \$1.30			
RACE 2	0	0	3,2,6	2,7,1	4,1,5	1,2,3	3.AILE	ACH \$4.00 / 1.IT'S A BATTLE \$2.80				
RACE 3	11,1,9	1,3,2	5,2,3	0	6,3,2	8,5,12	2.HIRTSHALS \$3.20 /	1.ALL TO SOON \$4.60 / 11.CHATEAU GRIFFO \$1.50				
RACE 4	15,5,3	9,2,3	3,8,10	1,5,11	11,10,7	6,1,15	3.REI	NEWAL \$2.60 / 1.SANDISON \$1.80				
RACE 5	11,6,4	1,2,7	4,10,11	5,8,12	5,1,11	2,1,6	4.BALEARIC \$1.5	l.50 / 6.UBER ED \$9.20 / 5.SHALL WE HOPE \$2.20				
RACE 6	6,1,9	5,4,14	1,8,10	1,7,5	1,8,2	5,1,7		VO ODD SOX \$2.10 / 1.GO DOWN \$5.70				
RACE 7	4,1,8	2,1,14	4,3,7	1,3,4	4,1,5	2,1,5		/ 2.REACH FOR HEAVEN \$4.40 / 3.TRAFFIC MAESTRO \$2.60 / 1.SACRED SHAM \$3.30				
RACE 8	1,5,9	2,5,12	12,16,7	2,3,1	9,3,1	1,2,3	1.HELLOVA S	STREET \$1.60 / 3.FOUR LETTER WERD \$.50				
RACE 9			8,12,7	3,1,6	1,2,6	1,2,5	7.BENICO	D'S PRINCE \$11.10 / 5.BONDEIGER \$7.00				
RACE 10			3,15,4					15.LYRICIST \$5.60				
BEST BET SEL	ECTION I	ROM EA	ACH RAC		NG			PUNTER'S NO	TES			
RACE MEETING	RA	CE	HORSE N	NUMBER	RE	SULT		T ONTER 5 NO	125			
MR		7		1	:	1ST		1.SACRED SHAM	\$3.30			
SR		6		2	L/	/SCR		L/SCR				
BR		6		2	L/	/SCR		L/SCR				
AR		4		1	:	1ST		1.SANDISON \$1	80			
PR		4	1	1	2	2ND						
TR	R 2 1			1	:	1ST	1.IT'S A BATTLE \$2.80					
OVERALL RESULTS	MR/MEL	SR/SYD	BR/BRI	AR/ADE	PR/PER	TR/TAS	RESULT %		RESULTS WINS	<mark>&</mark> %		
WINS	3	3	7	5	2	4	19%		TOTAL RACES	49		
QN	2	2	3	3		2	24%		TOTAL WINS	24		
TRI			2	1		1	8%		TOTAL%	49%		

For betting strategies and money management plans see articles on the website

Call now on 1300 RACEBIZ or 0404 820 907 for advice and punting assistance - the team are here to help.



